
 

 

YDS DENEMELERİ 
 
Despite the American people’s growing (1)---- to 
this policy, more than 100,000 US soldiers 
remain in Iraq, where they are (2)---- involved in 
training Iraqi forces to replace them. However, it 
is understood that they stand ready to intervene 
directly should the security situation again (3)----
. Politically, Iraq is still a troubled country, with 
major rows among political parties on the one 
hand and tribal leaders on the other (all of whom 
are solely interested (4)---- expanding their own 
power base) being a regular occurrence. In 
Anbar province, for example, the arguments 
between the sheikhs and other influential figures 
(5)---- are competing with one another for power 
and popularity often turn violent. 
 
1.) 

A) approval   B) discrepancy 
C) opposition   D) subversion 
E) failure 

2.) 

A) relatively   B) hardly 
C) rarely   D) mainly 
E) scarcely 
 
3.) 

A) increase   B) commence 
C) extend   D) emerge 
E) deteriorate 

4.) 

A) at   B) about  C) for 
D) in   E) with 
 
5.) 

A) which  B) who   C) where 
D) when  E) whom 

It might be argued that the internal problems of 
some nations are so great that they can (6) ---- 
exercise any influence on the wider world. With 
all their internal troubles and failures, what part 
can they (7) ---- in international endeavours for 
the (8) ---- of peace? The dangers now are 
greater than ever. A racist war in southern 
Africa; another far more devastating conflict in 
the Middle East; continued unrest in the Far 
East. (9) ----, which is even worse, there is 
growing tension (10) ---- the world between the 
rich and the poor; and this could give rise to 
fresh conflicts. 
 
6.) 

A) briefly  B) easily  C) widely 
D) intensely  E) hardly 

7.) 

A) define  B) use   C) play 
D) claim  E) proceed 

 
 
 

 
 
 
8.) 

A) tolerance   B) agreement 
C) emergence   D) establishment 
E) representation 

9.) 

A) Otherwise   B) Despite 
C) Notwithstanding  D) Nevertheless 
E) Moreover 

10.) 

A) about   B) among 
C) throughout   D) beside 
E) above 

 
It is believed that the subject of economics first 
(11)---- in early Greek times. The reason (12)---- 
this belief is that the first writings on this 
subject were by Plato and Aristotle. However, 
there is no data showing the economic system 
during these times. The first known economic 
system emerged in the Middle Ages (13)---- 
feudalism was the dominant social system. 
There was an aristocratic class of (14)---- who 
were the holders of vast lands in which the 
peasants or serfs worked (15)---- the protection 
of their lords. 
 
11.) 

A) found  B) increased  C) used 
D) appeared  E) rejected 
 
12.) 

A) of   B) for   C ) about 
D) in   E) to 
 
63.) 

A) as soon as  B) prior to  C) when 
D) during  E) before 
 
14.) 

A) villagers   B) economists 
C) labourers   D) nobles 
E) immigrants 
 
15.) 

A) in exchange for  B) in addition to 
C) with regard to   D) in view of 
E) in spite of 

 

 

 

 
 
 
 
 
 



 

 

A hundred years ago, some scientists claimed 
that (16)---- studying a person’s face they could 
assess his or her mental ability and personal 
traits. While this practice (17)----, scientists 
today believe that physiognomy – the study of 
the face and facial expressions ‒ can provide 
clues to understanding social relationships. The 
face, (18)----, is the most distinctive feature of 
the human body, uniquely functioning as (19)---- 
an identity marker and a communication 
method. The human brain is (20)---- suited to 
recognizing faces and facial expressions, even if 
it cannot always connect names and personal 
details to those faces. 
 
16.) 

A) at   B) with   C) by 
D) in   E) over 
 
17.) 

A) has been discredited 
B) could have been discredited 
C) will be discredited 
D) should be discredited 
E) had been discredited 
 
18.) 

A) for example   B) as a result 
C) otherwise   D) after all 
E) in conclusion 
 
19.) 

A) either  B) both   C) also 
D) more                E) such 
 
20.) 

A) particularly  B) vaguely  C) gradually 
D) recklessly  E) redundantly 

Since the beginning of the industrial age, the 
(21)—- of the natural environment by humankind 
has got even worse. Natural resources (22)—- 
and waste is being produced at a higher rate 
than the soil, air, rivers and oceans can (23)—-. 
Especially, the composition of air has changed 
significantly. The burning fossil fuels such as 
coal and crude oil to run power stations and 
motor vehicles emit particulate matter and 
numerous chemical compounds including 
sulphur, nitrogen and carbon oxides. (24)—- 
these compounds are released (25)—- the 
atmosphere, they react with water vapour to 
create sulphuric and nitric acid, which turn to 
Earth’s surface in the form of acid rain. It attacks 
the leaves and needles of the trees and prevents 
photosynthesis from working effectively, which 
results in forest decline. 
 
21. ) 

A) fluctuation   B) installation  
C) estimation   D) acceleration  
E) exploitation 
 
 
 
 
 

22. )  

A) had been depleted  
B) have been depleted  
C) would be depleted  
D) will have been depleted  
E) was being depleted 
 
 
23. ) 

A) break  B) allocate  C) penetrate  
D) handle  E) thrive 
 
 
24. ) 

A) Despite  B) Although  C) Whether   
D) Unless  E) Once 

 

 
25.  ) 

A) into     B) from     C) out     D) of     E) next to 

 

CEVAP ANAHTARI 

  1. C  

  2. D  

  3. E  

  4. D 

  5. B  

  6. E  

  7. C  

  8. D  

  9. E  

10. C  

11. D  

12. B  

13. C  

14. D  

15. A  

16. C  

17. A  

18. D  

19. B  

20. A  

21. E  

22. B  

23. D  

24. E  

25. A 

 


